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Weave Test

Rectangle Properties

𝑏 = 5 (base)

ℎ = 12 (height)

Calculate Ix

𝐼𝑥 = 𝑏 ⋅ ℎ3

12 = 5 ⋅ 123

12 = 720.0

Calculate Area

𝑎𝑟𝑒𝑎 = 𝑏 ⋅ ℎ = 5 ⋅ 12 = 60

𝑃𝑒 = 𝜋2 ⋅ 𝐸
(𝐾⋅𝑙

𝑟𝑠
)2 ⋅ 𝐴𝑔 = 3.14162 ⋅ 29000

(1⋅408
2.12 )2 ⋅ 19.7 = 152.2353 (AASHTO 6.9.4.1.2-1)
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Example Plot

Figure 1: Parametric Plots

𝑐 = {𝑎 + 𝑏 if (ℎ < 6)
𝑎 − 𝑏 otherwise
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Large Dataset

OFP OFNP OPP OPNP EMR Hosp NumChron AdlDiff Age Black Sex
Int32 Int32 Int32 Int32 Int32 Int32 Int32 Int32 Float64 Cat… Cat…

1 5 0 0 0 0 1 2 0 6.9 yes male …
2 1 0 2 0 2 0 2 0 7.4 no female …
3 13 0 0 0 3 3 4 1 6.6 yes female …
4 16 0 5 0 1 1 2 1 7.6 no male …
5 3 0 0 0 0 0 2 1 7.9 no female …
6 17 0 0 0 0 0 5 1 6.6 no female …
7 9 0 0 0 0 0 0 0 7.5 no female …
8 3 0 0 0 0 0 0 0 8.7 no female …
9 1 0 0 0 0 0 0 0 7.3 no female …

10 0 0 0 0 0 0 0 0 7.8 no female …
11 0 0 0 0 0 0 1 0 6.6 no male …
12 44 5 2 0 0 1 5 1 6.9 no female …
13 2 0 0 0 0 0 1 1 8.4 no female …
14 1 0 0 0 0 0 1 1 8.1 no female …
15 19 0 1 2 0 1 1 0 7.8 no female …
16 19 0 0 0 0 0 0 0 7.6 no female …
17 0 0 0 0 0 0 1 1 8.3 no male …
18 3 9 1 0 0 0 2 1 8.0 no female …
19 2 0 0 0 0 0 3 0 7.3 yes male …
20 12 0 2 0 0 0 4 0 7.4 no male …
21 2 0 1 0 1 2 1 0 6.7 no male …
22 3 0 1 0 0 0 2 0 7.3 no male …
23 1 0 0 0 0 0 1 0 7.5 no female …
24 1 0 0 0 0 0 2 0 7.1 no female …
… … … … … … … … … … … …

Small Dataset

region mean_age
Cat… Float64

1 other 73.987
2 midwest 74.0769
3 noreast 73.9343
4 west 74.1165

����������������������������������������������
� region � mean_age �
� CategoricalValue{String, UInt8} � Float64 �
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� other � 73.987 �
� midwest � 74.0769 �
� noreast � 73.9343 �
� west � 74.1165 �
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